Class x
Holiday Homework
English

Write chapter-wise detailed summary of the book ‘The Story of my Life’ Part II.

Attempt all the exercises given in the Units | & Il of the Workbook, on the basis of

the rules taught under different topics of grammar in classes VIl to X, in the book

itself.

3. Attempt the question paper, enclosed with the Holiday Homework, in loose
sheets and bring the same to school for correction.

4. Compare and contrast the speeches of Antony and Brutus in about 100 words.

5. Make a list of all the poetic devices employed in the poem ‘The Rime of Ancient

Mariner’ and define all of them with ample examples from the poem in your

support.

A

Note: Task 1 will be assessed as a part of FA 3

Ry A
1. faeafori@a wsit & ser oy 25 @ 30 ereat -
(1) ST $AR A :W o AT HicaalT @ T U T TRl &7
(2) ‘DR el & TRET PiraT 3 oFar Teer fear srar &2
(3) BT & et ol Ta® T 7 §?
(4) ‘HIST AT IY & G 3T FIT A &2 T HfAT |
(5) ‘T AT 3T I AT’ & IR H RERY S FIT Far 8?
2. TAFaferf@d sl & 393 50 & 60 el # forfEmT -
(1) TofR 37l &7 IR AT HIfST |
(2) 3T RTaTeY 3R CTTERATET & 3T AT HSI &2 IS &b Aoy F TTF HST |
(3) @ b T3 & ATATHP 9T &b FAT-FAT HRUT TATT &2 31T fehaT PRUN A Hal db Tedd &7
(4) T & T Trel, @ & g A, forad fordar i &, & & ugdrer’ | 3 ufehear

G HAICTH Y TG FIT el dTedT &? TUE HIfAT|
(5) IR PEIAT b ATCTH T TH AT TR AT &2
R=drB

1. AFafef@d areat o @@ gl 7 aafer -
() o1 TRreTeh & Tl ST el Uaas 31T & |
(@) T UZ T 37T FARY Tehal &< |

(3T) B AT I[EHI GRT AT |

(&) ST M IR 915 Y GEdeh @G oS |

(3) ST I o Qi1 @ fordr, I Wold Il 73T |
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(T) GATET B & ITUBR Bl 91T |

(@) &0 B @1 & dRoT Arga 1 Reaferar sma ot |

(ST) HS® UR HA dTelT e fehd a8 & TH 1T |

2. faratef@a aaat f 3T aaar & agfer -

() Tfksral cafena & fore o o 3rdsra & ¥ |

(@) TT drclet arell et A2l ST |

(3T) T IIUTEAT T& aTel TSeh el T3l |

(8T) 3T el H Teal aTeAT TSI A FHA T |

(3) 3d AR FAATA & d1¢, 3Tch USIET d1e 3T 7T |

(T) FAET A & uah Teae= o9 |

(B) AT H I 37T | TN 7T I8 |

(3T) IR & H g7 3T gehaT 7737 |

3. fasaferf@&a et &1 AT - faarg FId 36 19 forfaw -
F-U, Uudes, Heled, 3RO, SATAPAr, 3TETETmrN,
HUTHD, STeHd, AT, HIIME, A, FAUT,
Tead, AfeaD, gUcHA!, YD, HEEAY, AifafAgorl
4. AFafaf@a Ragt & gaeaue fof@e qur g o A1 off forfEe -
8 R JAR, I TR, ad § arF, g & R,

I 3141 &l FIAHE, Deldh o AT ofcll, MM H T |

5. faFafef@a aat # gg Mfow -

(1) TE AT MT HE | (2) 3T el AY T 33T |

(3) 319 & T AT | (4) AT B AT AT |

(5) TR NIFIMITE!  (6) THFAR TG W T |

(7) HATATS 3T aTet & | (8) THATY JFaR H el 5T |
(9) ITeIR & TTar1 @ 778 | (10) TR &2 3R H AW Tehe Fepam a7 |
6. fArafafra Agra’t & 31 for@a arera # v Hifaw -

(1) g4 g9 @< | - (2) T &I 9T FeATgAT |

(3) 8fraft el a7 | (4) BT HTaT |

(5) T BT GAT BIAT | (6) FMIR F JIIR HAT |

(7) 3EY TN ToT=T | (8) R hr aRE W1 IgotaT |
(9) TeT T Hc YT | (10) 3TT@T gof URET g |

7. Tl R F IHSIA & AT & A I URT A v gaar faf@w |
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8. ‘TaTf¥ed TATaTor & fore @arr fw ux & B &t ara<ha o d@arg & &9 # fféw |
9. ‘WeiraR g3’ & forw e nay® fawmua dar fifaw |

10. 31geae fafaT

BIABIST AT & A& IATAAT, ST H HFMAFEIAAT, T T HI |

11. 3 I & GAT D ST D GHAT Sl §T Yol 31efiegre bl o= ff@e |

Mathematics
(Probability)

Q1. A coin is tossed. Find the probability that a head is obtained.
Q2. Find probability of throwing 5 with an ordinary dice.
Q3. Probability of winning a game is 0.4. What is the probability of loosing the game?

Q4. A person is known to hit the target in 3 shots out of 4 shots. Find the probability that
the target is not hit.

Q5. Tickets numbered from 1 to 20 are mixed together and a ticket is drawn at random.
What is the probability that the ticket has a number which is multiple of 3 or 7?

Q6. A bag contains 100 identical tokens, on which numbers 1 to 100 are marked. A
token is drawn at random. What is the probability that the number on the token is:

(a) an even number (b) an odd number (c) a multiple of 3 (d) a multiple of 5
(f) a multiple of 3 and 5 (g) a multiple of 3 or 5 (h) a number less than 20

() a number greater than 70 (j) a perfect square number (k) a prime number less than
20.

Q7. A card is drawn from a well-shuffled pack of cards. Find the probability that the card
drawn is:

(a) a queen (b) a king bearing diamond sign (c) a black card (d) a jack

(e) black and a queen (f) either black or a queen (g) a red card (h) a face card
(i) a diamond or a club (j) neither heart nor a jack (k) a 2 of diamond

(I) an ace of hearts (m) a face card of red color (n) 10 of a black “suit”

Q8. In a simultaneous toss of two coins, find:

(@) P(2 tails) (b) P(exactly one tail) (c) P(no tails) (d) P(at most one head) (e) P(one
head) -

Q9. A coin is tossed successively three times. Find probability of getting exactly one
head or two heads.

Q10. Three coins are tossed once. Find probability of:
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(a) 3 heads (b) exactly 2 heads (c) at least 2 heads (d) at most 2 heads

(e) no tails (f) head and tail appear alternatively (g) at least one head and one talil

Q11. A dice is thrown once. Find:

(a) P(number 5) (b) P(number 7) (c) P(an even number) (d) P( a number greater than 4)
(e) P( a number less than or equal to 4) (f) P(a prime number)

Q12. A bag contains 10 white, 6 black and 4 red balls. Find probability of getting:

(a) a white ball (b) a black ball (c) not a red ball (d) a white or a red ball

Q13. Two dice are thrown simultaneously. Find:

(@) P(an odd number as a sum) (b) P(sum as a prime number) (c) P(a doublet of odd
numbers)

(d) P(a total of at least 9) (e) P( a multiple of 2 on one die and a multiple of 3 on other
die)

(f) P(a doublet) (g) P(a multiple of 2 as sum) (h) P(getting the sum 9) (i) P(getting a sum
greater than 12) (j) P( a prime number on each die) (k) P( a multiple of 5 as a sum)
Q14. Find the probability that a leap year at random contains 53 Sundays.

Q15. Two black kings and two black jacks are removed from a pack of 52 cards. Find
the probability of getting:

(a) a card of hearts (b) a black card (c) either a red card or a king
(d) a red king (e) neither an ace nor a king (f) a jack, queen or a king

*NOTE: A pack of playing cards consists of 52 cards, which are divided into 4 suits of

13 cards each. Each suit consists of one ace, one king, one queen, one jack and 9

other cards numbered from 2 to 10. Four suits are named as spades([]),clubs([),
hearts([1 ) and diamonds([7 (spades & clubs are black. hearts & diamonds are red)

ANSWERS

Ans(1) 1/2 Ans(2) 1/6 Ans(3) 0.6 Ans(4) 1/4 Ans(5) 2/5 Ans(6) (a) 1/2 (b) 1/2 (c) 33/100
(d) 1/5 (e)3/50 (f) 47/100 (g) 19/100 (h) 3/10 Ans(7) (a) 1/13 (b) 1/52 (c) 1/2 (d) 1/13 (e)
1/26 (f) 7/13 (g) Y2 (h) 4/13 (i) 1/2 (j) 9/13 (k) 1/52 (I) 1/52 (m) 3/26 (n) 1/26 Ans(8) (a)
1/4 (b) 1/2 (c) 1/4 (d) 3/5 (e) Y2 Ans(9) 3/4 Ans(10) (a) 1/8 (b) 3/8 (c) 1/2 (d) 7/8 (e) 1/8
(f) 1/4 (g) 3/4 Ans(11) (a) 1/6 (b) O

Surface Area and Volume

1. A solid iron rectangular block of dimensions 4.4 m, 2.6m, and 1m is cast into a hollow
cylindrical pipe of internal radius 30cm and thickness 5cm. Find the length of the pipe.
(Use M =22/7) (Ans=112m)
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2. A well with inside diameter 7m, has been dug 22.5m deep and the earth dug our is
used to form an embankment around it. If the height of the embankment is 1.5m, find
the width of the embankment. (Ans = 10.5m)

3. Water is flowing at the rate of 7m/ sec through a circular pipe whose internal diameter
is 2cm, into a cylindrical tank of radius 40cm. Find the increase in water level in %2
hour. (Ans =7.875m)

4. Water is flowing at 5km/hr through a pipe of diameter 14cm into a rectangular tank
which is 50m long and 44m wide. Find the time in which the water level in the tank rises
by 7cm. (Ans = 2 hours)

5. Water flows @ 10 m/ min through a cylindrical pipe having its diameter as 5mm. How
much time will it take to fill a conical vessel whose diameter of base is 40cm and depth
24cm?  (Ans =51min 12sec)

6. The radii of the internal and external surfaces of a metallic spherical shell are 3cm
and 5cm respectively. It is melted and recast into a solid right circular cylinder of height
32/3 cm. Find the diameter of the base of the
cylinder. (Ans =7cm)

7. The radius of a solid iron sphere is 8cm. 8 rings of iron plate of external radius 20/3
cm and

the thickness 3cm are made by melting this sphere. Find the internal diameter of each
ring. (Ans = 8cm)

8. A tent of height 77dm is in the form of a right circular cylinder of diameter 36m and
height 44dm surmounted by a right circular cone. Find the cost of canvas at Rs
3.50/m2 (Ans = Rs. 5365.80)

9. A solid wooden toy is in the shape of a right circular cone mounted on a hemisphere.
If the radius of hemisphere is 4.2cm and the total height of the toy is 10.2cm, find the
volume of the wooden toy. (Ans = 266.11cm3)

10. A cylindrical container of radius 6cm & height 15cm is filled with ice-cream. The
whole ice cream has to be distributed to 10 children in equal cones with hemispherical
tops. If the height of the conical portion is 4 times the radius of its base, find the radius
of the cone. (Ans = 3cm)

11. A solid is composed of a cylinder with hemispherical ends. If whole length of the
solid is 98cm and diameter of cylinder is 8cm, find the total surface area & volume of
the given solid .

(Ans = 8624cm2 , 54618.67cm3)

12. A right triangle whose sides are 15cm and 20cm, is made to revolve about its
hypotenuse. Find the volume and total surface area of the double cone so formed.
(Use M =3.14).

(Ans 3768cm3, 318.8cm2)

13. A cylindrical road roller made of iron is 1m long. Its internal diameter is 54cm and
the thickness of iron sheet used in making the roller is 9cm. find the mass of the roller, if
1cm3 of iron has 8gm mass. (Ans = 1425.6kg) 14. The difference between outside
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and inside surface areas of a metallic cylindrical pipe 14cm long is 44cm2 if the pipe is
made of 99cm3 of metal, find the outer and inner radii of the pipe. (Ans = 2.5cm, 2cm)

15. A bucket is in the form of a frustum of a cone and holds 28.49 litres of water. The
radii of the top and bottom are 28cm, 21cm respectively. Find the height of the
bucket. (Ans = 15cm)

16. The perimeters of ends of a frustum are 48cm & 36c¢m, if height of frustum be 11cm,
find its

volume. (Ans = 1554cm3)

17. The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel
to the base.If its volume be 1/27 of the volume of the given cone, at what height above
the base is the section made? (Ans =20cm)

18. A tent is made in form of a conic frustum surmounted by a cone. The diameters of
base and top of frustum are 20m & 6m respectively and height is 24m. If height of the
tent is 28m, find the area of the canvas cloth required. (Ans = 340lMm2)

19. A hollow cone is cut by a plane parallel to the base and the upper portion is
removed. If the curved surface area of the remainder is 8/9 of the curved surface of the
whole cone, find the ratio of the line segments into which the cone’s altitude is divided
by the plane (Ans = 1:2)

20.A cylinder and a cone have equal bases and equal heights. If their curved surfaces
are in the ratio 8:5, determine the ratio of the radius of the base to the height of either of
them (Ans = 3:4)

21.Lead spheres of diameter 6cm are dropped into a cylindrical beaker containing some
water and are completely submerged. If the diameter is 18cm and the water rises by
40cm, find the number of lead spheres dropped in the water (Ans = 90)

22. A circus tent is cylindrical to a height of 3m and conical above it. If its diameter is
105m and the slant height of the conical portion is 53m, calculate the length of the
canvas cloth 5m wide required to make the tent.(Ans = 1947m)

23. A cone, a hemi-sphere and a cylinder stand on equal bases and have the same
height. Find the ratio of their volumes as well the ratio of their total surface areas (Ans =
1:2:3, (N2 + 1):3:4)

24. A cone of radius 10cm is divided into two parts by drawing a plane through the mid-
point of its axis parallel to its base. Find the ratio of the volumes of the two parts of the
cone (Ans = 1:7)

25. A building is in the shape of a cylinder surmounted by a hemi-spherical vaulted
dome. The internal diameter of the building is equal to the total height of the building. If
the volume of air space inside the building is 880/21 m3, find the height of the crown of
the vault above the floor. (Ans = 4m)

26. An inverted cone of vertical height 12cm and radius of the base 9cm has water to a
depth of 4cm. Find the area of the internal surface of the cone not in contact with
water. (Ans =376.8cm2)
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27. The mass of a spherical iron shot-put 12cm in diameter is 5kg. Find the mass of a
hollow cylindrical pipe 12cm long (made of the same metal), if it'’s internal and external

diameters are 20cm and 22cm,
respectively. (Ans = 4.375kqQ)
SCIENCE
ASSIGNMENT

1 Draw the structure of ethane molecule .
2 What happens when a ray of light is incident normally on a rectangular glass slab ?
3 Why is the depletion of ozone layer a cause of concern?

4 Why does the size of atoms progressively become smaller as we move from left to
right ina period?

5 Mention two functions of human female ovary.
6 (a) What is meant by the Power of accommodation of human eye?
(b) How does the focal length of the eye lens changes when we shift looking form
distant object to near by object?
7.why do we see stars twinkling where as planets do not?

8.A part of the periodic table has been shown below :

GROUP I I XVI - XVII - XVII
PERIOD1

2 B D C

3 E

On the basis of above table answer the followings
(DWhich element will form cation?
(ilWhich element will have smallest atomic size?
9 .(a) What is homologous series?
(b) In an organic compound which part largely determine its physical and chemical
properties ?

(c)Write a chemical equation to represent the reaction of ethanol with acidified
solution of potassium dichromate?

10. (a) Which two compoundswill undergo addition reaction?

C2H6, C3H8, C3H6 C2H2and CH4
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(b) What is hydrogenation? State its industrial application?

11.How does the process of seed germination take place in plants? Describe in brief.

12.Answer the following(One difference between each)
(a)Differentiate between acquired and inherited traits.
(b)Asexual and sexual reproduction.

(c)Binary fission and multiple fission.

13.(a)Why Mendel selected garden pea plant for his experiments. List a reasons .
(b)What are recessive and dominant genes?

14.What is pollination? List its two types .State any two agents which help in pollination

15.What are the causes of following defects of vision and how can they be corrected:-
1. Cataract 2. presbyopia.

16 An object is placed perpendicular to principal axis of a convex lens of focal length
10cm.The distance of the object from the optical centre of the lens is 15cm.Calculate
the position of the image formed. Mention the nature of the image formed.

17.(a) Define power of a lens and define its Sl units.

(b) The image of an object formed by a convex lens is of the same size as the
object. If the image is formed at a distance of 50 cm from the lens ,at what distance
from the lens is the object placed ?Find the focal length and its power used.

18 How is the increase in demand of the fossil fuels affecting the environment
adversely?

Suggest two ways to minimize the problem.
19 The construction of large dams lead to social and environment problems. List three
problems .
20 (a) State two advantages of vegetative propagation .Name two plants in which it is
practiced.
(b) How does Hydra reproduce ? Explain with the help of labeled diagram.
21 Draw a neat diagram of human male reproductive system and label
Prostate gland,seminal vesicle and testis.State the function of testi .
22 (a) State two differences between a real and virtual image.

(b) The magnification produced by a mirror is +1 .What does this indicate ?
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©What is lateral displacement ?State two factors on which it depends.

23 Light enters from air to diamond having refractive index 2.42. Calculate the speed of
light in diamond.

(b) Draw the ray diagrams to show formation of virtual images in concave mirror and
convex mirror.

24 VALUE BASED QUESTION

In our society we often come across the abnormal behaviour of people using alcohol
ALCOHOL is a very useful solvent and is also used in medicines. The people who use
alcohol suffer from many diseases of liver and brain . The whole family of such people
suffers.

(a) What are the harmful affects of alcohol ? How family life of drunkards suffer ?
(b) What initiatives would you take to make people aware of the harmful affects of
alcohol? Write three points .

SECTION B

25 On adding acetic acid to a solid X a colourless and odourless gas Y evolves
which turns lime water milky. Identify X and Y .
a. XisNaOH and Y is CO2
b. Xis NaHCO3 and Y is H2
c. XisNa2CO3 and Y is CO2
d. XisNaHCO3 and Y is CO
26 What is the common name of ethanoic acid ?
a.Ethynic acid b Acetic acid

¢ Carboxylic acid d Formic acid
27 we put blue litmus paper in acetic acid it will become
a red b orange
C green d colourless
28 Wich one has lowest pH
a CH3COOH b HCI
¢ CH3COONa d NaCl

29 Some crystals of CuSO4 were dissolved in cold water.The colour of solution
would be

a Pale green b Yellow

c Dark green d blue
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30 An atom has electronic configuration 2,8,7. To which of the elements would it be
chemically similar

a(7) b (9)
c P(15) d Ar(18)
31 Inevolutionary terms we have more in common with
a chimpanzee b a Chinese school boy
C spider d bacterium
32 In binary fission the parent cell divides by the process :
a cytoplasm and nucleus divides at the same time
b nucleus divides first than cytoplasm
c cytoplasm divides first than cytoplasm
d cytoplasm and nucleus do not divide

33 Organs of different groups of animals having same origin and structure but
performs different functions are called

a primitive organs b analogus organs

c vestigial organs d homologous organs
34 Yeast cells reproduce by

a binary fission b budding

¢ spore formation dbothaandb

35 An student put five raisins each in two beakers A and B. Beaker A contains 50 ml
of distilled water and beaker B has 50 ml of saturated sugar solution. After sometime
the student observed that:

a raisins in beaker A were more swollen than B
b raisins in B were more swollen than A
c raisins were equally swollen in A and B
d raisins in beaker did not swell up at all
36 Which of the following dicot seed consists of thin flat cotyledon
a castor seed b bean seeds

c gram d pea
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37 No matter how far an object from the spherical mirror, the image of the object
appears erect. The mirror is
a concave b convex
c either concave or convexd none of these

38 When a ray of light , on passing from one medium to another, changes its path is

called
a regular reflection b refraction
C scattering d dispersion

39 A convex lens forms an image which is inverted, real and not diminished to
point.The object in such a situation is:
a) between infinity and 2F b) between F and 2F
c )at 2F d)at F
40 When a ray of light travels from air to glass and strikes perpendicularly, then it
a) bends toward normal b) bends away from normal
C) passes unbent d) returns back into air
41 Which of the following material can not be used to make a lens
a) water b) glass
c) plastic d) clay
42 When a ray passes through prism,
a) it goes un deviated b) it remains parallel to the base

c) it bends towards the base d) none of these

Social Science
GROUP B- ASSIGNMENT
GEOGRAPHY AND POLITICAL SCIENCE
ONE MARKS QUESTIONS

Q1. Which mineral is formed by decomposition of rocks leaving a residual mass of
weathered material ?

Q2. What do you understand by rat-hole mining?
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Q3. Which is the finest iron-ore and why?
Q4. Define manufacturing.
Q5. What are co-operative sector?
Q6. What are mini-steel plants?
Q7. What does ‘Road Density”?
Q8. What does mass communication mean?
Q9.Why did king Gyanendra replace King Birendra?
Q10. Where is Bolivia located?
Q11. What does partisan means?
Q12. Name the National parties of India?
Q13. What is the most basic outcome of democracy?
Q14. What does transparency in democracy mean?
Q15. What is a ‘challenge’?

THREE MARKS QUESTIONS

Q-16 Describe ethnic massacre in Kosovo.

Q-17 Mention the main features of the Advancing Monsoon or the Rainy season or the
South- West Monsoon.

Q-18 Why is the distribution of population in India uneven ? Explain with three
examples.

Q-19 Quite a few species of plants and animals are endangered in India. Why ?

Q-20 Describe aim, time and methods of election campaign in India.

FIVE MARKS QUESTIONS

Q-21 Distinguish between Tropical Evergreen Forests and Tropical Deciduous Forests.
Q-22 Explain the features of the hot weather season[ summer ]
Q-23 What is the political competition ? Is it good to have political competition ?
Q-24 Describe different types of executive , compare their powers in a democracy.
Q-25 Explain how the scope of rights has been expanded in recent times.
Q26 Locate following on the political map of india:

(a) Areas of tropical evergreen forest

(b) State with lowest sex ratio

(c) Dudhwa national park

(d) Nagpur

(e) The most populous state of India
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Social Science (History & Economics)

Group -B

Short answer type question
1. The Swaraj Party was set up by &

2. The Depressed Classes Association was formed by

3. Gandhiji march from Sabarmati to Dandi is called the

4. A female figure symbolizing the identity of Indian nation is called

5. Gandhiji idea which emphasized truth and non-violence is referred
as

6. Hand spun coarse material symbolic of self reliance is
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7. The Statutory Commission that arrived in India 1 1928 was led
by

8. Name the Act of British government led to the constitution of provincial councils.
Ans.

9. Why was Round Table conference held in England?
Ans.

10.What was the aim of KHILAFAT movement?
Ans.

11.The resolution of Purna Swaraj adopted at which session?
Ans.

12. Gandhi-Irwin Pact was signed in

13. Who was the president of the Congress Session in December 1929 at Lahore?
Ans.

14.Why did the Indians opposed the Simon Commission?
Ans.

15. Through which pact the issue of separate electorate for Dalits was resolved
between Gandhiji and Ambedkar in19327?

Ans.

ECONOMICS
Group-B

Do the given worksheet & paste it in your note- book.

1. Write any four rights of consumers.

rwn R

ention any four factors causing exploitation of consumers.

M
1.
2.
3.
4.

3. A major step taken in 1986 by the Indian Government was the enactment of
Ans.

4. World Consumer Right Day is celebrated on
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5. Write down the full form of
1.1SO-
2.BIS-
3.COPRA-
4.1Sl-

6. Which is the global level institution of Consumer Welfare Organizations?

7. AGMARK is for the

8. National Consumer Day in India is observed on

9. Under a COPRA, a guasi-judicial
machinery

was set up for redressal of disputes.
10.Consumer movement in India has led to the formation of various organizations
locally known as
11.Mention any two duties of consumers?
1.
2.
12.State level court deals with the cases involving claims between

13.What purpose will be solved if consumer asks for cash memo on purchase of
goods or services?
Ans.

14.Consumer has a right to acquire knowledge and to be well informed consumer
throughout life. Which right applies here?
Ans.

15 Level of court which deals with cases claims exceeding Rs. lcrore---------------
Map Work
Group -B

On the given outline political map of India mark the following and attach the map in your
history note book.

The place from where the movement of Indigo planters was started.

The place where Indian National Congress session in September 1920 was held.
The place where cotton mill worker’s satyagrah was held.

Bardoli

The place where Indian National Congress was held in 1929.

The place where Jallianwala Bagh Massacre took place.

The place where Indian National Congress session was held in 1927.

Kheda

The place where Civil Disobedience Movement started.
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3. gurH fa3rg a1 Fcar forad-

(F) AT -mmmmv (FATE) ATSAH FU
() TET GEERTL: G -ommmes (TOTTAT AR ) SATHI |
Sranizacl (FIRAT) ST AT |

(F) Wa=q: @i ?
(@) AT [RT HT T |
) AR [T 97 |

HS[UT | o &R F =1

(3T) (F) A - Tk T2~
(@) T2 AETIESTfa |
@) AT A |

HoSUT | afg:, fFrmdq, &

5. T HLTeAH FeaT foraT -
() Fearar fEerer: g |te |
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(@) FUE T g |
WERCHEEIEREEL LR
(°T) |T FTTrT g2 oA |
(F) A T gmatd |
() A AT THIH |

6. Hepda Her: forad -
(F) T HEFT —ATIATH FdA------(62) FFHT: AT |
(@) qruTAl: gf=a 1 (5)
() A THIY Faed------¢82) THHTIOT & |
(@ TT  FTrerRr: Gfed 1 (16)

7. Y@TERaaar faehed Teafawivy Fad -
(F) SAfagfAaraT FAer: g2 T | (FA7/ F /1 F)
(@) Feeqlg: TIT: ATAT 2caT &= Tq: | (FT / Fe [ 7))
(1) farwE rEraT T A | (F9 /% / )
(o) & STt AT | (T / FTET  F)
(F) Sterfargfaarae FHT: 7 7 | (F: / %/ )
() Teaafe: T Arat oeaT &= T | (FTH/ F/ F9)
() Setaet =7 7Rt st | (Frgeft /w7 / )
() S st B | (T / AT/ )

| z =1 % - I : s ] l.g
% 3

=S L5 - s
i~ e = R TS

o = — G e = L

= - < 3 —

\ = = = -
/4—’2(’ Y
\.\‘ ~ P
\._/‘ S

= ~ —

AT, T, AAGTTH, [EAR AT, AT, T e, Fd (e, AAhoH, Fiea, ooy, us e,
TATEA TR, ATAT:, [T
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Foundation of Information Technology

Design a Website on any one of the topics given below and take the printouts of coding as well

as output (must use hyperlink and frames tags)

Personal Blog with Name, Photo, Areas of Interest, School, State, Country

e School Website - Infrastructure, Facilities, Uniform, Motto, School Pictures, Extra-
Curricular Activities, Subject and Language Options

e Travel and Tourism

e Statistics on Indian - State wise Area, Population, Literacy (Enrolment in Primary,
Middle, Secondary, Senior

e Secondary), Gender Ratio

e Environment (Save Energy) and Pollution (Global Warming)

DAV Public School, Sector VI, Dwarka , New Delhi Page 18



